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QUESTION 1

The following message is frequently seen in the DB2 Diagnostics Log file (db2diag.log): 

MESSAGE: 

ADM5502W 

The escalation of "28581" locks on table "TEST.TABLE1" to lock intent "X" was successful. Which two database
configuration parameter settings should be checked? (Choose two.) 

A. LOCKLIST 

B. MAXAPPLS 

C. MAXLOCKS 

D. MAXAGENTS 

E. LOCKTIMEOUT 

Correct Answer: AC 

 

QUESTION 2

A DBA wants to create a table named SALES that has the following characteristics: 

Effective data clustering and management of space utilization. Rows in the table should be clustered based on when
they are added to the table. Which clause must be used with the CREATE TABLE statement to define this table? 

A. ORGANIZE BY DIMENSIONS 

B. ORGANIZE BY INSERT TIME 

C. ORGANIZE BY TIME PERIOD 

D. ORGANIZE BY KEY SEQUENCE 

Correct Answer: B 

 

 

QUESTION 3

What statement regarding Asynchronous index cleanup (AIC) is correct? 

A. AIC removes all invalid index entries that refer to the attached partitions. 

B. AIC is initiated if a range-partitioned table contains one or more nonpartitioned indexes. 

C. AIC activates a newly attached partition after the index entries have been synchronized. 
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D. AIC will not be initiated if a range-partitioned table has dependent materialized query tables (MQTs). 

Correct Answer: B 

 

QUESTION 4

A table space creation operation was unsuccessful because DB2 failed to allocate a container in a path. Which
diagnostic tool can be used to help resolve the problem? 

A. db2dart 

B. db2diag 

C. db2caem 

D. db2fmcu 

Correct Answer: B 

 

QUESTION 5

Which statement about block indexes is correct? 

A. Because of their large size, block indexes are extremely efficient. 

B. Block indexes improve performance when data is not clustered on sequential pages. 

C. Prefetching of data pages relies on sequential detection when block indexes are used. 

D. The records for each block are retrieved using a mini-relational scan of saved data pages. 

Correct Answer: C 
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